ﬂ?ﬂf.

SNSRI
‘O L'd
L i [ 00z 1 SINOL] %E%E |
00€'t | safem 1031i] |
| 0S9°1 SINOH fnoge :
000°% | Pasn [eLajen |
5y | [

:410308] € ur portad Uutel190 ® Jof Jusuntedap a3 ur jno POLLIED .I12pJ0 3uo uQ _

juauniredap ayj f

000°8% 01 2qeaBreyo spesysasg _

__ 000°$E PaxIom 8IN0Y TRoqe |

uonerado |

h 0000¢ | sumgoery  jo  sanoy |
I 000709 s98e N 1991p _ ;

. 000°2. pasn [earey _

T sd DR [ _

:A10108f © ut porred urerao B J0j Jusunredap |

uononpoid B 10 sonnoe oU3} 0] sarepar uoneulojul FulMOl[O) 2y (q)
_ "PIESAI ST UL SMOTA InoK 2)B)g 'SIUN000Y 1507 Ul Jendey uo m
_ s3I, Jo uorsnpur Jsuefe pue Jo InoAe] ur sjuswngre sy ssnosi (e) ed I

_ (S1=01+g)9adns 150180u o3 03 "o 1ad s8op pauosess aiy Jo anssI uo pagreyo
29 0} soud ay3 ajemOTED ‘901 Buruosess 03 anp s8of jo sumjoa ur SS07]
' danaruIng
Bunpew sdoys Ay1 Aq pardnooo s1 vore looy Bururewrar oyy pue
Iaquin Zuruosess Joy jrede jas U33q sey prek ay) jo ware ioop
Jo 9,05-8uruosess jo spowad o3 J0j s8o0] pauoseasun Jo anjea
3 U0 %1 @ pauosess aq o} s8o[ oy 105 safreyo aduBINSU] A
‘000°0T
'S ssauisnqg sy jo sasuadxs peayroso Tesouad jo areys [enuuy  -ar
‘yiuowr rad
| 00S'T sy ® 012 mcnﬁmu ‘souruLUTEUI JO sasuadxo Bluapou)
‘yoea
puow 13d 00g'E sy B SISE[BUY pUE Uswyolem gz Jjo sorrereg L]
7 Tiuow 3ad 00g°g sy (3 'bs 000°z) paek oty Jo JuRy 1
‘Buruoseas jo pouad 911 BULIND paLIMour a1om sastradye 3
Jo swaq1 Bumoryoy sy prei d9quun STy Ul “Juruosess 10 syiuow X18 10]
pref roqum sty u Woly palols pue 30 1ad 001 'Sy @ 71 0g “¥sqojoQ
1T U0 s30] Jequin jo ‘30 000°01 peseyoand armjoenueu: aImIuIng v (q)
SIS 3L 8T MOY SAmnmend) 1opip onmouodg siyeym ()  zp)

{g1) ¢IWES 9Y)} 2WO0DI9A0 03 asodord

nof i Moy pue joedxs nos I sanmomrp reonoead jeypn Aueduros
Surmpoemuew B ur woalsds Junsoo v [TEISUl 0] payse uaaq aaey noyx 10
_n| 'suopnsanb aayf Auw 1dwiazny :ajon u
S4 SYIDI wnwixoyy SAMOH £ 2w

OTT{WLL) vag

orrreg) vag
Bugunossy 3509 :posfyng OITI-VES :2poD tadvg
4102 annp -xviy [vaq] saisanag anooas

NOILVNINVXH WNAJ, aNF

...................... ‘ON 1109 wimxg {"oN 110y woxy ~off 2}Lm asDI]g)

Download all Notes and papers from StudentSuvidha.com



http://studentsuvidha.com/forum/
http://studentsuvidha.com/forum/

Q4

05

[-2-]

Prepare a comparative statement of cost of this order by using the
following two methods of recovery of overloads:
{i} Direct Labour Hour Rate Method
(iij  Machine Hour Rate Method (5+10=15)
Mr. Richardson undertook a contract for Rs. 75,00,000 on an
arrangement that 80% of the value of the work done, as certified by the
architects of the contractee should be paid immediately, and the
remaining 20% be retained until the contract was completed.
In 2003, the amounts expended were: Materials Rs. 9,60,000, Wages Rs.
8,50,000, Carriage Rs. 30,000, Cartage Rs. 5,000, Sundry expenses Rs.
35,000. The work was certified for Rs 18, 75,000 and 80% of this was
paid as agreed.
In 2004, the amounts expended were: Materials Rs. 11,00,000, Wages
Rs. 11,50,000, Carriage Rs 1,15,000, Cartage Rs. 10,000, Sundry
expenses Rs. 20,000. Three-fourths of the contract was certified as done
by 31st December and 80% of this was received accordingly. The value of
the unused stock and work-in-progress uncertified was ascertained at
Rs. 1,00,000.
In 2005, the amounts expended were: Materials Rs. 6,30,000, Wages Rs
8,50,000, Cartage Rs. 30,000, Sundry expenses Rs. 15,000. The whoale
contract was completed on 30t June.

Show how the contract account, work-in-progress account and the
contractee’s account would appear in each of these years in the books of
the contractor assuming that balance due to him was received on
completion of the contract. Also show the relevant items in the Balance
Sheet. (15}

A product passes through three processes-A,B and C. The details of
expenses incurred on the three processes during the year 2014 were as
under: )

\.\

[Process » - [ A B O;
Units issued/introduced cost per unit Rs. | 10,000 -
100

| Rs. Rs. Rs.
Sundry Materials 10,000| 15,000] 5,000
Labour 30,000 | 80,000] 65,000

| Direct Expenses 6,000 | 18,150 27,200

| Selling price per unit of output { 120 165 250

Management expenses during the year were Rs. 80,000 and selling
expenses were Rs. 50,000. These are not allocable to the processes.
Actual output of the three processes was:
A-9,300 units, B-54,00 units and C-2;100 units. Two thirds of the
output of Process A and one-half of the output of Process B was passed
on to the next process and the balance was sold. The entire output of
Process C was sold.
The normal wastage of the three processes, calculated on the input of
every process was:
Process A-5%, B-15% and C-20%

P.T.C.
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The wastage of Process A was sold at Rs. 2 per unit, that of B at Rs. 5 pe

unit and of Process C at Rs. 10 per unit,
Prepare the Three Processes Accounts and the Profit and Loss Ac

{a)  Differentiate between Absolute Tonne-Kms and Commercial®¥hne

(b) A factory which uses a large amount of coal is situated Kedfveer
two collieries X’ and Y’ the former being 5 kilometers
latter 10 kilometers distance from the factory. A fleet of lo
tonne carrying capacity is used for the collection of coal
pitheads. The lorries give an average speed of 20 kilome
hour when running and regularly take 10 minutes in the
premises to unload. At colliery X’ loading time avera
minutes per load, and at colliery Y’ 20 minutes per load.

oil, tyres, repairs and similar charges are noticed to cost R
kilometer run.
Draw up a statement showing the cost per tone-Kilo

(b}  Given below is the Trading and Profit and Loss Account o

Rs. i

To Direct Material | 3,00,000 | By sales: 2,50,000 Units
Consumed d
To Direct Wages | 2,00,000 [
To Factory Expenses 1,20,000 —
To Office Expenses 40,000 M
To selling and distributio BO0,000
Expenses .
To Net Profit 10,000

7,350,000

Normal output of the factory is 2,00,000 units. Factory ov
are fixed for all practical purpose. Selling and dist

expenses are fixed to the extent of Ts. 50,000; the rest are vad
Prepare a statement reconciling profit as per Cost Accou
Financial Accounts. (10

Write short notes on any three of the following:- {5
(a) Labour Turnover

(b) Control Ratios

{c) Activity Based Costing
(d) Life Cycle Costing

(e} Material Losses

e e e e e o o
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